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yi = PBo + Pix; + &, &~N(0,0%)

BE20| RS 0/83101 27N § = fo+fux B FHDA Bk (B, i2 o, 10 )

x=77,y=74S5, = 8,Sy = 1O’rxy =0.8
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(4) B2 Reld BESE a = 0.05F2+F SN AIRMSHAR (tEE & XS5)
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1. [60 pts] Let 4 = B g],B -

2 0 0 1 -1
1 3 0],C= [1 0 ] . Compute.
2 6 1 1 1

(1) sum of the eigenvalues of A

(2) sum of the eigenvalues of B

(3) multiple of the eigenvalues of AQA

(4) rank of AQB

(5) sum of the eigenvalues of AQB

(6) Let D = C(C'C)~1C’. Compute the rank of D.

2. [20pts] Let f(xy,x;) = x; — x2.
(1) What is the maximum of f subjectto x# + x2 < 1?

(2) What is the minimum of f subjectto x? + xZ = 1?

3. [20pts] Compute.

1) L

6x1

x2+y2

@ [ [T e+ dxdy
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